Visit - www.exammix.com & Download : All Shift CBT Question Papers (Hindi & English)

RRC GDCE PRAYAGRAJ AUG 2021
(CANDIDATE RESPONSE SHEET)

Roll Number

Name of the _
Candidate www.exammix.com

Examination Name RRC GDCE ALD UNDER GRADUATE
Exam Date & Time 06-08-2021 04:00:00

Subject : RRC_JUL21_ALD_UG

Question ID:- 894
When it rains the relative humidity of atmosphere is:-

SId Jif39r Biedl 3 dl aRyISeT bl ATUST AGAT Bledl 3:-
Options:-

«0% , Option ID :- 3573,
«1002% , Option ID :- 3575,
«50% , Option ID :- 3574,

«75% , Option ID :- 3576,
Answer Given By Candidate:- 50« , Option ID : -3574
Correct Answer :- 100« Option ID :- 3575

Question ID:- 895
How many spokes are there in the Ashok chakra of Indian flag?

NIRRT east & 3ioNd ad 3 fabdoll aifsat 3?
Options:-

«108, Option ID :- 3580,

=22, Option ID :- 3577,

=23, Option ID :- 3579,

=24, Option ID :- 3578,
Answer Given By Candidate:- 24, Option ID : -3578
Correct Answer :- 24 Option ID :- 3578

Question ID:- 896
550" Birth Anniversary of Guru Nanak was held in the year:-

1% otfer bt 550% sricht arf 3 IR &t a1 oft:-
Options:-

2017, Option ID :- 3583,

»2018, Option ID :- 3581,

«2019, Option ID :- 3582,

»2020, Option ID :- 3584,
Answer Given By Candidate:- 2019, Option ID : -3582
Correct Answer :- 2019 Option ID :- 3582

Question ID:- 897
The time period of a wave is 0.05 sec. It's frequency in Hz is:-

g 91 bl Fermafs 0.05 Aws & sAbl et A sngfa 3i-
Options:-
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.20, Option ID :- 3586,

=25, Option ID :- 3585,
=40, Option ID :- 3588,

«50, Option ID :- 3587,
Answer Given By Candidate:- 20, Option ID : -3586
Correct Answer :- 20 Option ID :- 3586

Question ID:- 898
If V15 = 3.873, then V(3/5) =

afr V15 = 3.873, @xV(3/5)=____ |
Options:-

«0.77, Option ID :- 3590,
«0.81, Option ID :- 3592,
«0.88, Option ID :- 3589,

:0.97, Option ID :- 3591,
Answer Given By Candidate:- 0.77, Option ID : -3590
Correct Answer :- 0.77 Option ID :- 3590

Question ID:- 899
The lowest number which leaves 3 as remainder when divided by 8, 12 and 16.

AGA DA JwI, St 8, 12 3z 16 A faurfid dlol uz 33®! Iuwd 3 3
Options:-

« 35, Option ID :- 3594,
=45, Option ID :- 3596,
«51, Option ID :- 3593,

=61, Option ID :- 3595,
Answer Given By Candidate:- 51, Option ID : -3593
Correct Answer :- 51 Option ID :- 3593

Question ID:- 900
The temperature of a place is 10° C. In Fahrenheit this will be:-

feoeft Ferrot o1 arusrer 10° C 2 wRolsise 3 As gem: -
Options:-

=40, Option ID :- 3597,
=45, Option ID :- 3600,
«50, Option ID :- 3598,

«60, Option ID :- 3599,
Answer Given By Candidate:- 50, Option ID : -3598
Correct Answer :- 50 Option ID :- 3598

Question ID:- 901
The average of 7 numbers is 11. What will be the sum of these numbers?

7 Jizcsii ot 3iiaa 11| sot Jizcnsii &1 AT aRI a1 ?
Options:-

«110, Option ID :- 3601,

«154 , Option ID :- 3604,

«70 , Option ID :- 3603,
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«77 , Option ID :- 3602,

Answer Given By Candidate:- 77 , Option ID : -3602
Correct Answer :- 77 Option ID :- 3602

Question ID:- 902
The length of one side of cube is 8cm. How many cubes of side with length of 2 cm can
be cut from the bigger cube?

"ol I uap oIt D ciars 8 Aefl. 2 A, DI ciard @ AT fpaet @l &, S &3 Tol A DI Sl ADd 32
Options:-

=16, Option ID :- 3606,
=27, Option ID :- 3608,
«32, Option ID :- 3605,

64, Option ID :- 3607,
Answer Given By Candidate:- 64, Option ID : -3607
Correct Answer :- 64 Option ID :- 3607

Question ID:- 903
If area of a square is 625, then its circumference is:-

afe ga o1 ggwa 625 3, al sad uffer:-
Options:-

«100, Option ID :- 3611,

«200, Option ID :- 3609,

=300, Option ID :- 3610,

=50, Option ID :- 3612,
Answer Given By Candidate:- Not Attempted
Correct Answer :- 100 Option ID :- 3611

Question ID:- 904

The number which filled in the blank to make the polynomial: d?2 +10d + a
perfect square is:-

Fiza1, S aguc SolaY @ fore fyep ermer & af) 5 31 d2 + 10d +
Options:-

«100, Option ID :- 3613,

«25, Option ID :- 3616,

«50, Option ID :- 3614,

=75, Option ID :- 3615,
Answer Given By Candidate:- 75, Option ID : -3615
Correct Answer :- 25 Option ID :- 3616

Question ID:- 905
Find the 10 th term in the series- 1, 3,5, 7 ........

guit # 10 aiucsma®mi- 1, 3, 5, 7 ........
Options:-

«19 , Option ID :- 3620,

=20, Option ID :- 3619,

=21, Option ID :- 3618,

22, Option ID :- 3617,
Answer Given By Candidate:_— 19 , Option ID : -3620
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Question ID:- 906
A person earning per hour increases 10 Rs per hour starting from 50 Rs in the first
hour. His total earning after 20 hours will be:-

gfer @ie par darell <aftp uscl 50 U gfer @e A 9Rs w2 yfer @i 10 3w gerar 8 20 #@e a1 3AD! el A
giafi:-
Options:-

2700, Option ID :- 3621,
2800, Option ID :- 3622,
«2900 , Option ID :- 3623,

«3000, Option ID :- 3624,
Answer Given By Candidate:- 2900, Option ID : -3623
Correct Answer :- 2900 Option ID :- 3623

Question ID:- 907
What is the value of the missing number in series? 528, 496, 466, ? , 412, 388

oyoft 3 errudr Fizean o1 et o= 3? 528, 496, 466, ? , 412, 388
Options:-

=438, Option ID :- 3627,

439 , Option ID :- 3628,

+444 , Option ID :- 3626,

454 , Option ID :- 3625,
Answer Given By Candidate:- 438 , Option ID : -3627
Correct Answer :- 438 Option ID :- 3627

Question ID:- 908
In a certain code language, "BALL" is written as "27" and "CANE" is written as "23".
How is "YELL" written in that code language?

up foif2ada ois smar 3, "BALL" @1 27" siik "CANE" &1 "23" e siear 3 3a o@ois simor & "YELL" &a
ferear Strar 3?
Options:-

=39, Option ID :- 3630,
«50, Option ID :- 3629,
«54, Option ID :- 3631,

61, Option ID :- 3632,
Answer Given By Candidate:- 54, Option ID : -3631
Correct Answer :- 54 Option ID :- 3631

Question ID:- 909
If 21 (49) 14 and 159 (169) 146, then what is the value of 'A’' in 56 (A) 44?

afe 21 (49) 14 3k 159 (169) 146 3, a1 56 (A) 44 3 'A’ o1 oHI0l a=aI1 37
Options:-

«121, Option ID :- 3634,

«144, Option ID :- 3633,

»225, Option ID :- 3635,

=256, Option ID :- 3636,

Answer Given By Candidate:- Not Attempted
Correct Answer :- 144 Option ID :- 3633
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Question ID:- 910
If "A" denotes "added to", "B" denotes "divided by", "C" denotes "multiplied by" and
"D" denotes "subtracted from", then 154 B11 C6 A6 D 27="?

afe "A" @1 "sisa ", "B" o1 " fnmsar A M, "C" @1 "spon I ik "D" &1 "aera” A gorkn siw, ar 154 B 11
C6A6D27="?
Options:-

«33, Option ID :- 3639,
«60, Option ID :- 3637,
«63, Option ID :- 3638,

«64 , Option ID :- 3640,
Answer Given By Candidate:- 63, Option ID : -3638
Correct Answer :- 63 Option ID :- 3638

Question ID:- 911
Chandan is 2 years older than Ankit but 1 year younger than Sumit. Ankit is twice as
old as Khushboo. If Khushboo's age is 25 years, what is the age (in years) of Sumit?

dcol 3ifdpa A 2 et 931 3 dAfdbor JfIa A 1 1l Bler 3 3ifdpa, I A PGl 31 & 3PR W9 DI 33 25 a1et 3,
a1 ghra &t 391 (Arer A) a=m 3?
Options:-

«51, Option ID :- 3641,
«52, Option ID :- 3643,
=53, Option ID :- 3642,

=55, Option ID :- 3644,
Answer Given By Candidate:- 53, Option ID : -3642
Correct Answer :- 53 Option ID :- 3642

Question ID:- 912
Three of the following four letter are alike in a certain way and one is different. Pick
the odd one out.

forgarferRaa ar sigrRi 3 A dier v foifua aiid A v SiA 3 3z v sicer & fawar @1 udar cesmsit|
Options:-

«119, Option ID :- 3647,
«133, Option ID :- 3645,
«149, Option ID :- 3648,

«161, Option ID :- 3646,
Answer Given By Candidate:- 149, Option ID : -3648
Correct Answer :- 149 Option ID :- 3648

Question ID:- 915
Which of the following particle has positive charge?

forgotferRaa & A b DU Uz eelcHAD A9 3?2
Options:-
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sElectron / saa<ia, Option ID :- 3657,

«Neutron / s¥gfa, Option ID :- 3658,
«Photon / wids;, Option ID :- 3660,

= Positron / uisficrer, Option ID :- 3659,
Answer Given By Candidate:- Positron / ulshicor, Option ID : -3659
Correct Answer :- Electron / scacior Option ID :- 3657

Question ID:- 916
The boiling point of water is highest at:-

Ulofl &1 daeiclids ART 3ifera 31-
Options:-

«At a height of 1000 mt / 1000 3ficz &1 s uz, Option ID :- 3662,
«At a height of 2000 mt / 2000 sficz &t Fars uz, Option ID :- 3663,
«Ground level / sy-acuz , Option ID :- 3664 ,

«Sea level / 33 @1 7= uz, Option ID :- 3661,
Answer Given By Candidate:- Sea level / 915 @1 7=r uz, Option ID : -3661
Correct Answer :- Sea level / w3g @1 1= uz Option ID :- 3661

Question ID:- 917
A long sighted person uses glass made of:-

UP g2 E6El aIcll ARG Dol 3¢IRT A Joll AT Usoldl 32
Options:-

sBifocal lens / fgwiw=ii ¢, Option ID :- 3668,
sConcave lens / smadaa cizr, Option ID :- 3666,
sConvex lens / 3aa c=, Option ID :- 3665,

sPlane glass / @aa «ia , Option ID :- 3667,
Answer Given By Candidate:- Concave lens / smaaa o1, Option ID : -3666
Correct Answer :- Convex lens / 3daa cizr Option ID :- 3665

Question ID:- 918
Which of the following gases reduces green house effect?

forgat 3=l & A Biet 1 sffel FI3A Yerra B B Bl 3?2

Options:-

sCarbon dioxide / oda sEsiiaarss, Option ID :- 3671,
«Nitrogen / sisqisior, Option ID :- 3672,

«OXxygen / siiaefisier , Option ID :- 3669,

«Radon / 33ier, Option ID :- 3670,
Answer Given By Candidate:- Oxygen / sifazfisiar , Option ID : -3669
Correct Answer :- Oxygen / siiaziisior Option ID :- 3669

Question ID:- 919
The color of sky is blue due to:-

MBI BT 38T Gilell Bl D DIRUT: -
Options:-
sAbsorption / saenyur, Option ID :- 3676,

sRefraction of light from denser to rarer media / sEer snezar A faa e 3 sraade © BRI,
Option ID :- 3674,
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sScattering / ydivia, Option ID :- 3673,

«Total internal reflection / @a siaf¥® yfefds, Option ID :- 3675,
Answer Given By Candidate:- Scattering / yd&ivia, Option ID : -3673
Correct Answer :- Scattering / goivia Option ID :- 3673

Question ID:- 920
Which one of the following is named as happiest country of the world?

forgotferiiae 3 A b2 gforRm @ A IYABICT SOI B WU A ol fova sram 3?
Options:-

«Finland / f¥ocis, Option ID :- 3677,
«Mexico / afedasm), Option ID :- 3680,
sSwitzerland / Racgrcis, Option ID :- 3678,

«USA / s@idier, Option ID :- 3679,
Answer Given By Candidate:- Switzerland / f3acsels, Option ID : -3678
Correct Answer :- Finland / fiseicis Option ID :- 3677

Question ID:- 921
‘Burz Khalifa’ is situated in which country?

‘gt clier’ fopar Sor 3 Rrea 37?

Options:-

«Iraq / s, Option ID :- 3683,

«Israel / sseize, Option ID :- 3684,

«UAE / 3iep 3ra spiiRi@, Option ID :- 3682,

«USA / s@dlwr, Option ID :- 3681,
Answer Given By Candidate:- UAE / iy 3ra sifieia, Option ID : -3682
Correct Answer :- UAE / iy 34 spiikia Option ID :- 3682

Question ID:- 922
Ajanta caves are situated in which state?

3rsiar &1 1S v s d Rera 372

Options:-

«Bihar / fasr, Option ID :- 3688,
sKarnataka / wafcs, Option ID :- 3686,
«Maharashtra / s@risg, Option ID :- 3685,

«Odissa / siifsem, Option ID :- 3687,
Answer Given By Candidate:- Maharashtra / ssrig, Option ID : -3685
Correct Answer :- Maharashtra / sgrc Option ID :- 3685

Question ID:- 923
‘Earthing’ in electric circuits is required for:-

forera ufvuert 3 ‘sifefer’ 61 smragAmar 3:-
Options:-
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s All of these / w3t fawca, Option ID :- 3692,

«Safety of equipments / sussvil &t 3zem, Option ID :- 3689,
«Safety of human being / sarar &1 3zem, Option ID :- 3690,

« Tripping of circuit breaker / afdc gz &1 f2ftie, Option ID :- 3691,
Answer Given By Candidate:- All of these / i faweu, Option ID : -3692
Correct Answer :- All of these / =isfi faasca Option ID :- 3692

Question ID:- 924
The source of phrase ‘Satyameo Jayate’ is:-

ATGRIIYT "HIAT SRIA" BT e 32

Options:-

«Buddha Tripitak / gg fftcw, Option ID :- 3693,
«Manduka Upnishad / sisaw sufereg, Option ID :- 3696,
sRamayana / e, Option ID :- 3695,

«Rig Veda / ss5dg, Option ID :- 3694,
Answer Given By Candidate:- Manduka Upnishad / sigaw suforag, Option ID : -3696
Correct Answer :- Manduka Upnishad / sisaa suforeg Option ID :- 3696

Question ID:- 925
Jalliawalan Bagh is situated in which city?

Siferiiare a1 fopa 9rs2 3 Rera 3?

Options:-

sAmbala / siarenr, Option ID :- 3699,
«Amritsar / sgrasr, Option ID :- 3700,
«Ropar / aus, Option ID :- 3697,

«Singrur / f¥sz, Option ID :- 3698,
Answer Given By Candidate:- Amritsar / s@a=z, Option ID : -3700
Correct Answer :- Amritsar / sz Option ID :- 3700

Question ID:- 926
Corona virus originated from which country?

DRIe arRA &t Icafu A Jor A €72

Options:-

«China / e, Option ID :- 3702,

«Japan / smuret , Option ID :- 3704,
«Pakistan / ufeszamer , Option ID :- 3701,

«USA / spisior, Option ID :- 3703,
Answer Given By Candidate:- China / fier, Option ID : -3702
Correct Answer :- China / iiart Option ID :- 3702

Question ID:- 927
To transmit large amount of data channel made of following will be used:-

g3t e A 31 dord RIRA e D fere forgoifeiRaa o1 surilet s siresm: -
Options:-
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«Micro wave / 3jga azs1 , Option ID :- 3706,
= Optical fibre / iiiftcasa wizaz , Option ID :- 3707,
«Quad pair / aas s, Option ID :- 3708,

«Stranded wire / & g3n ar , Option ID :- 3705,
Answer Given By Candidate:- Optical fibre / siiftcasar wsaz , Option ID : -3707
Correct Answer :- Optical fibre / siiftcwe wisaz Option ID :- 3707

Question ID:- 928
Which country is known as a ‘Land of White elephants?

P21 o1 Y ABc aIfrl oY 9fdr B U A Sirew S 37
Options:-

sIndonesia / ss6ifdrm, Option ID :- 3712,
sTanzania / denform , Option ID :- 3711,
«Thailand / endds, Option ID :- 3709,

sZambia / snfis=m , Option ID :- 3710,
Answer Given By Candidate:- Thailand / enédis, Option ID : -3709
Correct Answer :- Thailand / endés Option ID :- 3709

Question ID:- 929
Who is Deputy CM of Delhi?

Roeht & B3t fear wlar 3?

Options:-

sAlka Lamba / sicor arsar , Option ID :- 3716,
sManish Sisodia / scliu Braifeean , Option ID :- 3715,
«Raghav Chaddha / =a asaer , Option ID :- 3713,

«Sanjay Singh / s Riz , Option ID :- 3714,
Answer Given By Candidate:- Manish Sisodia / aofiu R3r=nfean , Option ID : -3715
Correct Answer :- Manish Sisodia / sciia Rriifézn Option ID :- 3715

Question ID:- 930
Who among the following has not won an Olympic medal?

forgaiferl3aa 3 A fparor siicifties ucgw ordf Sfiar 3?

Options:-

«Deepa Karmakar / dlus oz , Option ID :- 3718,
«K Malleshwari / @ . aicerast , Option ID :- 3719,
«Mary Kom / 33 o1 , Option ID :- 3717,

«Sakshi Malik / ausht aifers , Option ID :- 3720,
Answer Given By Candidate:- Deepa Karmakar / dus waras: , Option ID : -3718
Correct Answer :- Deepa Karmakar / éius @wanas: Option ID :- 3718

Question ID:- 931
Which blood group is called universal acceptor?

fopa1 b A9 o Ardsiifdrs Fdiwat st srar 3?
Options:-

«AB +ve, Option ID :- 3721,

«AB -ve, Option ID :- 3724,

«AB, Option ID :- 3723,
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:0 +ve, Option ID :- 3722,

Answer Given By Candidate:- AB +ve, Option ID : -3721
Correct Answer :- AB +ve Option ID :- 3721

Question ID:- 932
Which one of the following crops will enrich the soil with nitrogen?

forgaiferRaa 3 2 oot 2t B ol & A ¥ B A Bh?
Options:-

«Brinjal / §se1, Option ID :- 3727,

«Pea / acz, Option ID :- 3725,

«Potato / ang, Option ID :- 3728,

sTomato / cacz , Option ID :- 3726,
Answer Given By Candidate:- Pea / #scz, Option ID : -3725
Correct Answer :- Pea / sicz Option ID :- 3725

Question ID:- 933
The Mahabodhi temple is located in:-

HedI?y difce 3 Rrera 3i-

Options:-

«Bihar / fd@rz, Option ID :- 3730,
«Karnataka / woiicas , Option ID :- 3732,
«Odissa / siifsem, Option ID :- 3729,

s Tamilnadu / afdrconis , Option ID :- 3731,

Answer Given By Candidate:- Bihar / fasr, Option ID : -3730
Correct Answer :- Bihar / fasr Option ID :- 3730

Question ID:- 934
Mahatma Budhha’s used to teach in which language?

FeIcHT g5 v simar 3 ugra 4?

Options:-

sAngika / sifstor , Option ID :- 3735,
«Pali / urchi , Option ID :- 3736,
«Sanskrit / 3izga , Option ID :- 3733,

«Vajjika / afSsimr , Option ID :- 3734,
Answer Given By Candidate:- Pali / urcii , Option ID : -3736
Correct Answer :- Pali / urcit Option ID :- 3736

Question ID:- 935
Which of these is a mammal?

Soldl A ol AT FloTuril 3?

Options:-

«Bat / aswcs, Option ID :- 3737,
«Eagle / st , Option ID :- 3739,

s Lobster / sfisnm sizcit, Option ID :- 3740,

«Python / s=er , Option ID :- 3738,
Answer Given By Candidate:- Lobster / sifsmt siscit, Option ID : -3740
Correct Answer :- Bat / gswics Option ID :- 3737
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n
Which of the following is not an input device?

fosifeiRaa 3 A ol seiyc RBasa ol 3?
Options:-

sJoy stick / sita e , Option ID :- 3743,
«Keyboard / &i&$ , Option ID :- 3741,
sMouse / sz, Option ID :- 3742,

«Printer / fiicz, Option ID :- 3744,
Answer Given By Candidate:- Printer / fiicz, Option ID : -3744
Correct Answer :- Printer / fticz Option ID :- 3744

Question ID:- 937
The charge on a body having excess electrons is:-

sifeif¥es saacioll aral fororr uz smder axar 3:-
Options:-

sNegative / siorcas , Option ID :- 3746,
sNeutral / scrfior , Option ID :- 3747,
sNone / @¥¥ oidi , Option ID :- 3748,

s Positive / eomeas , Option ID :- 3745,
Answer Given By Candidate:- Negative / siorcas , Option ID : -3746
Correct Answer :- Negative / siorcas Option ID :- 3746

Question ID:- 938
Ustad Zakir Hussain is a classical musician who plays:-

3¥dIc JIfp2 g3lol Ub AR AHofldapR 3, SN aelid 3:i-
Options:-

«Flute / sizgdt, Option ID :- 3752,
sHarmonium / sraforer , Option ID :- 3751,
sSarod / a5, Option ID :- 3749,

«Tabla / aacn , Option ID :- 3750,
Answer Given By Candidate:- Tabla / aaecr, Option ID : -3750
Correct Answer :- Tabla / aaer Option ID :- 3750

Question ID:- 939
The electric force between two charged body is determined using:-

31 3mAfdrd forpra @ i faera a fap=1 forra @1 IuRIeT o2 forarfya fpan sirar 37?
Options:-

«Coulomb’s law / @¢ea @1 formar , Option ID :- 3755,
«Faraday’s law / &3 @1 for, Option ID :- 3756,
«Newton’s law / &jca @1 forer , Option ID :- 3753,

s Quantum theory / qaica rgia , Option ID :- 3754,
Answer Given By Candidate:- Faraday’s law / ©3= @1 former, Option ID : -3756
Correct Answer :- Coulomb’s law / @csa o1 forzer Option ID :- 3755

Question ID:- 940
Which of the following lines passes through India?

forgaafeiRaa 3 A dlot 21 J3ar siea A SERdl ?
Options:-
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«Equator / sgiear , Option ID :- 3757,

sHorse latitude / sea sigrier, Option ID :- 3760,
s Tropic of Cancer / @& Y1 3, Option ID :- 3758,

« Tropic of Capricorn / aw: 351, Option ID :- 3759,
Answer Given By Candidate:- Tropic of Cancer / oo ¥ar 31, Option ID : -3758
Correct Answer :- Tropic of Cancer / @& 31 a1 Option ID :- 3758

Question ID:- 941
What is the duration of Rajya sabha member?

IRRHT AGTA b1 af?s o= 3?2

Options:-

«4 and a half years / si¢ 4 arer, Option ID :- 3763,
«5 years / 5 ama, Option ID :- 3762,

«5 years / 5 ama, Option ID :- 3764,

=6 years / 6 @ma, Option ID :- 3761,
Answer Given By Candidate:- 6 years / 6 s, Option ID : -3761
Correct Answer :- 6 years / 6 zira Option ID :- 3761

Question ID:- 942
Who among the following was longest serving chief minister?

forgarfeiRae 3 A Plol AR cid I b AT Sol arell IR oaT?
Options:-

«Jyoti Basu / suifa s35, Option ID :- 3765,
«Naveen Patnaik / ordior ucairias, Option ID :- 3768,
«Nitish Kumar / forcftor oz , Option ID :- 3766 ,

«Pawan Chamling / ugot amafeist, Option ID :- 3767,
Answer Given By Candidate:- Pawan Chamling / udget amafcisr, Option ID : -3767
Correct Answer :- Pawan Chamling / gaa amifeist Option ID :- 3767

Question ID:- 943
Who was the youngest prime minister of India?

HIRA D AR JdI YEIeldd]i Dlol A?
Options:-

sIndira Gandhi / sfogar siieht , Option ID :- 3769,
«Jawaharlal Nehru / smagzarma a5, Option ID :- 3771,
«Lal Bahdur Shastri / o« seigz on=<f}, Option ID :- 3772,

«Rajeev Gandhi / zia siieft , Option ID :- 3770,
Answer Given By Candidate:- Rajeev Gandhi / z=ia aiieft , Option ID : -3770
Correct Answer :- Rajeev Gandhi / zsfia aiieft Option ID :- 3770

Question ID:- 944
File extension .docx is used for:-

File extension .docx o1 3u=ne1 fopra fere fop=n sirdr 3?
Options:-
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sAccess file / vaaxa wisa , Option ID :- 3776,

sExcel sheets / waaa ofic , Option ID :- 3773,
«Power point files / umaz wrEe wisci , Option ID :- 3775,

«Word files / o wisci , Option ID :- 3774,
Answer Given By Candidate:- Word files / a3 wisci , Option ID : -3774
Correct Answer :- Word files / as wisci Option ID :- 3774

Question ID:- 945
For copy and paste in MS word the following keys are used:-

MS orss 3 oidl siik O @ fere foraifaRaa GirIl @1 Iu=er e srar 3: -
Options:-

«Ctri+C, Ctri+V , Option ID :- 3778,

« Ctri+X, Ctri+P , Option ID :- 3779,

« Ctri+X, Ctrl+V , Option ID :- 3777,

«Ctrl+2Z, Ctrl+V , Option ID :- 3780,
Answer Given By Candidate:- Ctrl+C, Ctrl+V , Option ID : -3778
Correct Answer :- Ctrl+C, Ctrl+V Option ID :- 3778

Question ID:- 946
‘Mail merge’ is a feature of the following package:-

‘Mail merge’ foafiRaa dds & v fadryar 3:-

Options:-

sAdobe Reader / wsia #sz, Option ID :- 3784,

«MS Paint / MS uc, Option ID :- 3782,

«MS Power point / MS diaz disc , Option ID :- 3783,

«MS word / MS a$, Option ID :- 3781,
Answer Given By Candidate:- Not Attempted
Correct Answer :- MS word / MS & Option ID :- 3781

Question ID:- 947
At present officers of which of the following cadre can’t become DRM?

forgaiferl3aa ds: @ ®lor A 3ifdrort adaret & DRM ol go1 awa?
Options:-

sMechanical / dioforsa, Option ID :- 3788,
«Security / Raié& , Option ID :- 3787,

«Stores / ¥z, Option ID :- 3786,

s« Traffic / b, Option ID :- 3785,
Answer Given By Candidate:- Stores / ¥z, Option ID : -3786
Correct Answer :- Security / RBa=f¥& Option ID :- 3787

Question ID:- 948
Who was the founder of Apple Computers?

Apple @RIz & FTeaud Bl A?
Options:-
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«Bill Gates / faa 3icar, Option ID :- 3789,

sLarry Page / ardf uw, Option ID :- 3791,
«Mark Zukerberg / i@ gwast , Option ID :- 3792,

«Steve Jobs / ¥&a sitsa , Option ID :- 3790,
Answer Given By Candidate:- Steve Jobs / ¥&a sifear , Option ID : -3790
Correct Answer :- Steve Jobs / ¥&a siiear Option ID :- 3790

Question ID:- 949
Who among the following is not a Cricket player?

forgatferl3ad 3 A dior fpde RBacms) o8t 3?2

Options:-

«Dileep Sardesai / fecfiu 2:¢a$ , Option ID :- 3795,
«Eknath Solkar / vwone Alaas:, Option ID :- 3796,
«Pullela Gopichand / ygien sidiic , Option ID :- 3794,

«V V S Laxman / di dt v agaor, Option ID :- 3793,
Answer Given By Candidate:- Eknath Solkar / wwotrer Ja®:, Option ID : -3796
Correct Answer :- Pullela Gopichand / gden siidikic Option ID :- 3794

Question ID:- 950
The value Loggg 4 is:-

Logg4 4 1 a0t 3:-
Options:-

«1/3, Option ID :- 3798,
«1/4 , Option ID :- 3800,
=2, Option ID :- 3797,

«4 , Option ID :- 3799,
Answer Given By Candidate:- Not Attempted
Correct Answer :- 1/3 Option ID :- 3798

Question ID:- 951
The slope of a line made by equation 4x + 2y = 81 will be:-

FftsIur 4X + 2y = 81 GRI Foll$ 31 31 b1 Gellol BIeI: =
Options:-

=2, Option ID :- 3801,

=-2, Option ID :- 3802,

«81/4, Option ID :- 3803,

«-81/4, Option ID :- 3804,
Answer Given By Candidate:- -81/4, Option ID : -3804
Correct Answer :- -2 Option ID :- 3802

Question ID:- 952
The value of n is:-

N oI Alel 31~
Options:-

«Ratio of area of a circle to its diameter / fop:fi ga & Sigqwa @1 3AD T B 19 3igqura, Option
ID :- 3808,
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«Ratio of circumference of a circle to its diameter / f&5:t ga &1 afefer o1 TD =T B 2A1A
srqurda, Option ID :- 3805,

«Ratio of circumference of a circle to its radius / fooft ga @ giqwa &1 3AD oS 1T 3IGUI,
Option ID :- 3806,

«Ratio of half circumference of a circle to its diameter / fp=fi ga &1 sneht afefr o1 TS =T D
e sigiurd, Option ID :- 3807,

Answer Given By Candidate:- Ratio of circumference of a circle to its diameter / f&s=ft ga
&1 uffr &1 3AD =R D AT igqurda, Option ID : -3805

Correct Answer :- Ratio of circumference of a circle to its diameter / st ga o1 ufif?r o1
3AD RT D A1 3efurad Option ID :- 3805

Question ID:- 953
There are two taps to fill a tank. These taps fill the tank in 30 minutes and 15 minutes
respectively. If both the taps are run together in what time will the tank be filled?

TPH T D IRal D g Y olar A ofeT aparer: 30 fBreie 3iir 15 el 3 T @l sraA & Afe QYoil ofct b AT Tl 3 al
T oo TerT 3 sdom?
Options:-

=10 minutes / 10 fieic, Option ID :- 3809,
=12 minutes / 12 fireic, Option ID :- 3810,
«5 minutes / 5 fieic, Option ID :- 3811,

«+8 minutes / 8 ficic, Option ID :- 3812,
Answer Given By Candidate:- 10 minutes / 10 fieic, Option ID : -3809
Correct Answer :- 10 minutes / 10 fisic Option ID :- 3809

Question ID:- 954
A bucket full of water weighs 50 kg and 30 kg when half full. The weight of empty
bucket is:-

urefl A 98t arcél o1 aster 50 fopeil, siiz smem 318t 3lat ur 30 fobenl Blar 3 archt arcét @1 astor &:-
Options:-

«+10 kg / 10 foocit, Option ID :- 3814,
16 Kg / 16 fooen, Option ID :- 3813,
=20 Kg / 20 fooent, Option ID :- 3815,

225 Kg / 25 feoeit, Option ID :- 3816,
Answer Given By Candidate:- 10 kg / 10 fosei1, Option ID : -3814
Correct Answer :- 10 kg / 10 f&eit Option ID :- 3814

Question ID:- 955
If SinA= 2, then the value of angle A will:-

afe SinA = 2, ql @ivr A oI Jlel:-
Options:-

«n/2, Option ID :- 3817,
«n/3, Option ID :- 3818,
«n, Option ID :- 3820,

«5n/6, Option ID :- 3819,
Answer Given By Candidate:- 5n/6, Option ID : -3819
Correct Answer :- 5n/6 Option ID :- 3819

Question ID:- 956
The area made by triangle with sides 12, 13 and 5 will be:-
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Options:-

«120, Option ID :- 3824,
=30, Option ID :- 3821,
=60, Option ID :- 3822,

«90, Option ID :- 3823,
Answer Given By Candidate:- 30, Option ID : -3821
Correct Answer :- 30 Option ID :- 3821

Question ID:- 957
If (a + 1/a)= 3 then (a2 +1/a?) is:-

afe (a + 1/a)= 3 a (a2 + 1/a2) 3:-
Options:-

=5, Option ID :- 3825,

=6, Option ID :- 3826,

«7, Option ID :- 3827,

=9, Option ID :- 3828,
Answer Given By Candidate:- 7, Option ID : -3827
Correct Answer :- 7 Option ID :- 3827

Question ID:- 958
Ifa+ 3b =15 and 10a + 5b = 50, then value of a and b will be:-

afda + 3b = 15 siiz 10a + 5b = 50, a a siiz b @1 A0 BYoI: -
Options:-

«0, 10, Option ID :- 3831,
«3, 4, Option ID :- 3830,
«4, 2, Option ID :- 3832,

=6, 3, Option ID :- 3829,
Answer Given By Candidate:- 3, 4, Option ID : -3830
Correct Answer :- 3, 4 Option ID :- 3830

Question ID:- 959
If (x2 + 8x +16)= 16, then the possible values of x will be:-

afe (x2 + 8x + 16) = 16, dl X & Heufe aior oK -
Options:-

«+6 and -2 / +6 3iiz -2, Option ID :- 3834,
«0 and -8 / 0 siiz -8 , Option ID :- 3833,

»-6 and +2 / -6 siiz +2 , Option ID :- 3836,

-6 and -2 / -6 3iiz -2, Option ID :- 3835,
Answer Given By Candidate:- 0 and -8 / 0 siiz -8 , Option ID : -3833
Correct Answer :- 0 and -8 / 0 siiz -8 Option ID :- 3833

Question ID:- 960
The height and base of a right angled triangle are equal. The length of hypotenuse is
4+/2 mt. The height of this triangle will be:-

HADII fepagst B Hard sz 3R ez § vl H ciarg 4V2 i 3 5 gt &Y Fars et -
Options:-
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»2v2 mt / 2v/2 #iz, Option ID :- 3839,

«3V2 mt / 3V2 sficz, Option ID :- 3840,
«4 mt / 4 iz, Option ID :- 3837,

«5 mt / 5 diicz, Option ID :- 3838,
Answer Given By Candidate:- 4 mt / 4 siicz , Option ID : -3837
Correct Answer :- 4 mt / 4 3icz Option ID :- 3837

Question ID:- 961
Which of the following are not sides of a triangle?

forgsiferRaa 3 A mie g 6 3= o1l 32
Options:-

=20, 25, 4, Option ID :- 3844,
«3, 4,5, Option ID :- 3841,
«5,12, 13, Option ID :- 3842,

=6, 8, 10, Option ID :- 3843,
Answer Given By Candidate:- 20, 25, 4, Option ID : -3844
Correct Answer :- 20, 25, 4 Option ID :- 3844

Question ID:- 962

The distance between two stations A and B is 550 km. A train starts from A towards B
with a speed of 100 kmph and other train starts from B to A with a speed of 50 kmph.
If the trains from A and B start at 7:00 am and 8:00 am respectively, at what time the
trains will meet?

oI ¥e9rell A 3iiz B o dfa &1 gt 550 fpafi 8 v g1 A A B 1 3iie 100 fopsft gfer @ie &bt sifer A 9 3l 3 3iiz
g3l ¢ot B 21 A 1 50 fopafl gfer #sie 61 aifer 21 9zs aldl 3 afe A siic B &bl Sof @arer: 7:00 am =1 3iiz 8:00 am
o1 9 aidl 3, Al fop1 R uz ol frcish?

Options:-

«10:30 am, Option ID :- 3847,
«11:00 am, Option ID :- 3845,
«11:30 am, Option ID :- 3846,

«12:00 am , Option ID :- 3848,
Answer Given By Candidate:- 11:00 am , Option ID : -3845
Correct Answer :- 11:00 am Option ID :- 3845

Question ID:- 963
The sun is falling on a tower of height 50 mt at an angle of 30° from horizon. The
shadow of the tower will be:-

férferst 21 30° @ @l uz 50 dles bl Jarg uR PRSI $9 @I & Siar DI BRI Bl -
Options:-

:20V3 mt / 20V/3 3fics, Option ID :- 3849,
«30V3 mt / 30V/3 3z, Option ID :- 3852,
«50V3 mt / 50V3 ez, Option ID :- 3851,

:60v3 mt / 603 3fiez, Option ID :- 3850,
Answer Given By Candidate:- 50v/3 mt / 50V/3 3ficz, Option ID : -3851
Correct Answer :- 50v/3 mt / 503 sficz Option ID :- 3851

Question ID:- 964
If the date 01/01/27 falls on a Saturday, what will be the day on 31/12/27?
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Options:-

«Friday / gqmar , Option ID :- 3856,
«Monday / #i@ar , Option ID :- 3854,
sSaturday / efsrarr , Option ID :- 3855,

sSunday / fdarr , Option ID :- 3853,
Answer Given By Candidate:- Saturday / ofstar , Option ID : -3855
Correct Answer :- Saturday / forarr Option ID :- 3855

Question ID:- 965
If the value of an angle is 70 degree. The value of its supplementary angle is:-

afe fepfl olvr @1 dAte1 70 33 3 $3AD Y DIVI DI ATl 3i-
Options:-

=100 degree / 100 f3sft, Option ID :- 3860,
=110 degree / 110 3sft, Option ID :- 3859,
:20 degree / 20 3, Option ID :- 3858,

70 degree / 70 f3sft, Option ID :- 3857,
Answer Given By Candidate:- 110 degree / 110 f3sji, Option ID : -3859
Correct Answer :- 110 degree / 110 3sft Option ID :- 3859

Question ID:- 966
The radius of a sphere and the side of a square are equal. The ratio of their volume will
be:-

U il &l R 31k uap aof &l yYei e  IoId> IRIAS BT 3io]Uld JIOTI: -
Options:-

«n/3:1, Option ID :- 3863,
«1:1/3, Option ID :- 3864,
«2n/3:1, Option ID :- 3862,

«4n/3:1, Option ID :- 3861,
Answer Given By Candidate:- 4n/3:1, Option ID : -3861
Correct Answer :- 4n/3:1 Option ID :- 3861

Question ID:- 967
The value of x2 (3x+5) = 9 x 14. Value of x will be:-

x2 (3x+5) = 9 x 14 2 Al X ©I 3ot Aom:-
Options:-

«-1, Option ID :- 3867,

=2, Option ID :- 3865,

«-2, Option ID :- 3866,

«3, Option ID :- 3868,
Answer Given By Candidate:- 3, Option ID : -3868
Correct Answer :- 3 Option ID :- 3868

Question ID:- 968
If x/y = 5/6 then the value of (x2 + y2)/xy is:-

afe x/y = 5/6 a (x2 + y2)/xy o1 aet 3:-
Options:-

.43./.?3), Option ID :- 3872, .
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«51/30, Option ID :- 3871,

«55/30, Option ID :- 3869,

«61/30, Option ID :- 3870,
Answer Given By Candidate:- 61/30, Option ID : -3870
Correct Answer :- 61/30 Option ID :- 3870

Question ID:- 969
Which of the following are equal?

s3m3t A Dot 3t 82 1. 24 I1. 40 . 04 1v. 42
Options:-

«I and II / Isi: II, Option ID :- 3873,

«I and III / I sz III, Option ID :- 3874,
«I and IV / I sk IV, Option ID :- 3876,

«II and III / II sie III, Option ID :- 3875,
Answer Given By Candidate:- I and IV / I siiz IV, Option ID : -3876
Correct Answer :- I and IV / I iz IV Option ID :- 3876

Question ID:- 970
If the coordinates of a point are (5, 0), then it lies in:-

afe fopfl fiig @ ferdenias (5, 0) 3, al s Rea 3:-

Options:-

«At origin / ga 3 , Option ID :- 3879,

sBetween x-axis and y-axis / X-aia1 3iiz y-3ig1 & o , Option ID :- 3880,
s X-axis / X-se1r uz , Option ID :- 3877,

sY-axis / Y-sieruz , Option ID :- 3878,
Answer Given By Candidate:- X-axis / X-3tg1t uz , Option ID : -3877
Correct Answer :- X-axis / X-sigr uz Option ID :- 3877

Question ID:- 971
Sum of all interior angles of a pentagon is equal to:-

ueyfst & il sriaf¥es BIvil o1 AT SRIER BT 3:-
Options:-

«2n , Option ID :- 3882,

«3n, Option ID :- 3881,

«4n , Option ID :- 3883,

«5n/2, Option ID :- 3884,
Answer Given By Candidate:- 3n, Option ID : -3881
Correct Answer :- 3n Option ID :- 3881

Question ID:- 972
If one value of “p” in the polynomial p2 + 3p + 2 = 0 is -1 what will be the other value
of p?

AR aguc p2 + 3p + 2 = 03 "p" @1 v Aol -1 3, A P BT GIRA ATeT TAT AON?
Options:-

«1, Option ID :- 3887,

«-2 , Option ID :- 3885,

=2, Option ID :- 3888,
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«-3, Option ID :- 3886,

Answer Given By Candidate:- -2 , Option ID : -3885
Correct Answer :- -2 Option ID :- 3885

Question ID:- 973

A post-man starts cycling from his post office. He cycles 7 km South, then turns West
and cycles 5 km, then turns North and cycles 6 km, then turns to his right and cycles 5
km. Where is he now with reference to his post office?

U Ule-dial 3ol Ule 3iiftha A Asieva acirell 9Rs w3l & as 7 pdil cfdur 3 Asidva gara 3, b ufdia of 3k
I 3 3R 5 fpdft arsiiper aerran 3, fb2 3= &1 3R Fgsan 3 3iik 6 fpdft am Asfsa acra 3, b sruetl o1 siik Fsar
3 3iiz 5 fopalt ao Arsfca acrar 3 39 ag 31uol sIbER @ o 3 wai 3?2

Options:-

= 2 Km North / 2 fosft saz &, Option ID :- 3890,
=1 Km North / 1 fo&ssfi 3= &, Option ID :- 3889,
«1 Km South / 1 foosht sfgor st , Option ID :- 3891,

2 km South / 2 f¥pait cféor i , Option ID :- 3892,
Answer Given By Candidate:- 1 Km South / 1 st sféor 5t , Option ID : -3891
Correct Answer :- 1 Km South / 1 fosit sféor s Option ID :- 3891

Question ID:- 974
Select the odd pair.

Rorerer gt o1 gt |

Options:-

sAssam : Guahati / swrra : siterét , Option ID :- 3895,

«Bihar : Patna / f3Gr : ucer, Option ID :- 3896,

«Karnataka : Bangalore / wdiico : sarciz , Option ID :- 3894,

«Maharashtra : Nagpur / ssrs : siergz , Option ID :- 3893,
Answer Given By Candidate:- Maharashtra : Nagpur / sz : aiergz , Option ID : -3893
Correct Answer :- Maharashtra : Nagpur / sss : siergz Option ID :- 3893

Question ID:- 975
A 'Square’ is related to 'Cube’ in the same way as a 'Circle’ is related to

'Square’ o1 dg¢e 'Cube’ A 33 aw § 5k 'Circle’ o1 Ada a g
Options:-

sArea / &igwa , Option ID :- 3900,

«Circumference / uf¥fér, Option ID :- 3898,

sDiameter / =1, Option ID :- 3899,

sSphere / sinar, Option ID :- 3897,
Answer Given By Candidate:- Sphere / siier , Option ID : -3897
Correct Answer :- Sphere / siemr Option ID :- 3897

Question ID:- 976

Following question consist of two words that have certain relationship to each other,
followed by four pair of words. Select the pair that has same relationship as the
original pair of words:-

Train : Station

foraat goot @ S 916 & RRI9 A YRAD® BT Ub IR} B AT BB Ade 3, RRID a5 AR 916 Yod Yglol fpu 518 T 9real
o1 e SISt @ AATo1 froar gorlel areft SISt goi: -

(o HRZ &

Options:-
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sAeroplane : Airport / zar s @ sardssst , Option ID :- 3901,

«Ocean : Bay / a5RR : @t , Option ID :- 3903,
sRiver : Delta / &1l : 3car, Option ID :- 3904,

sSea : Fish / z31g : siweil , Option ID :- 3902,
Answer Given By Candidate:- Aeroplane : Airport / zars see : sassigst , Option ID : -3901
Correct Answer :- Aeroplane : Airport / zar ser= @ sagagst Option ID :- 3901

Question ID:- 977

Following question consist of two words that have certain relationship to each other,
followed by four pair of words. Select the pair that has same relationship as the
original pair of words:-

Pen : Paper

forast geot 3 S 9166 3 R A YA® BT U GIR D AT T Adel 3, PRID aIg ar 9165 Joat Ygrol fpu slw & 9rect
o1 e SISt @ Ao froar gorlel arefl St goi:-

I & BIPIST

Options:-

«Brush : Canvas / g91 : dorarz , Option ID :- 3905,
sDinner : Table / i o1 wron : &1, Option ID :- 3907,
«Door : Handle / gzamw : 8sa , Option ID :- 3908,

«Table : chair / &= : a=2ff , Option ID :- 3906,
Answer Given By Candidate:- Brush : Canvas / g9r : doara , Option ID : -3905
Correct Answer :- Brush : Canvas / gg1 : dorart Option ID :- 3905

Question ID:- 978

Following question consist of two words that have certain relationship to each other,
followed by four pair of words. Select the pair that has same relationship as the
original pair of words:-

Fencing : Armor

foraat oot A QY 916 & RRIH A YyRAD BT Ub IR B AT BB A4 3, RRID a5 AR 916 YoH Yglol by 318 T oreal
o1 e SiiSt D AATo1 f¥oar gorlel arcft St goii-

IS cIolloll = dd

Options:-

«Book : Reader / ysae : ures , Option ID :- 3912,
«Law : Court / @iga : sarrer , Option ID :- 3909,
«Motor race : Helmet / 5s: @ 3adic, Option ID :- 3911,

s Stethoscope : Doctor / esmiu : siacz , Option ID :- 3910,
Answer Given By Candidate:- Motor race : Helmet / w532 : 3adic, Option ID : -3911
Correct Answer :- Motor race : Helmet / 532 @ 2cdic Option ID :- 3911

Question ID:- 979

Following question consist of two words that have certain relationship to each other,
followed by four pair of words. Select the pair that has same relationship as the
original pair of words:-

Fish : water

forgot yost 3 S 9rec T 113t A AD® BT Ub g3 B AT TP AHdel 3, RRAD 91 AR 9166 Yo Ygalol fby s1e T 9recl
bl et SISt D Aol f2oer gorfol arefl St goi:-

ATl @ ureil

Options:-
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= Cock : Hen / gaif : 31t , Option ID :- 3914,

sDeer : Forest / 2w : sisraa , Option ID :- 3916,
«Ink : Pen / =l : @was , Option ID :- 3913,

sTeacher : Student / g : faeneff , Option ID :- 3915,
Answer Given By Candidate:- Deer : Forest / fava : sistar , Option ID : -3916
Correct Answer :- Deer : Forest / 3 : sisrad Option ID :- 3916

Question ID:- 980

Following question consist of two words that have certain relationship to each other,
followed by four pair of words. Select the pair that has same relationship as the
original pair of words:-

Rainbow : Sky

forgot yost 3 SY orec T PRI A YAD® BT Ub gAY B AT [P Adel 3, PRID 915 ar 91e Yo Yglol by sre T 9recl
1 e SiiSt D Ao froar gorlel areft SISt goii-

SoGEIG & 3MRIHATGT

Options:-

«Beggar : Hungry / firars: sga , Option ID :- 3917,

«Mirage : Desert / gergoun : ¥Brare , Option ID :- 3919,

«sWarrior : Conquer / g : siidenr , Option ID :- 3920,

«Worship : God / gz : sermare , Option ID :- 3918,
Answer Given By Candidate:- Mirage : Desert / goigoon : 3drdare , Option ID : -3919
Correct Answer :- Mirage : Desert / gergoon : 38rare Option ID :- 3919

Question ID:- 981
Find the odd pair.

forgar sish gforo|
Options:-

=65 : 13, Option ID :- 3923,
72 :12, Option ID :- 3922,
«75 : 15, Option ID :- 3921,

«80 : 16, Option ID :- 3924,
Answer Given By Candidate:- 72 :12, Option ID : -3922
Correct Answer :- 72 :12 Option ID :- 3922

Question ID:- 982
The speed of Duronto is more than the speed of Rajdhani. Shatabdi moves faster than
Garib Rath but slower than Rajdhani. Which one is the slowest?

g3l bl aifer Irstermeil bl sifer A 3iférd 3 9rersdt sl 29 A 3iferd st acicdl 3 cifdvot etenell A il 3 DlorRil A=A
efiaft 3?

Options:-

«Duranto / giar , Option ID :- 3928,

«Garib Rath / si¥lg za1, Option ID :- 3925,

«Rajdhani / s=emsft , Option ID :- 3927,

«Shatabdi / errsét , Option ID :- 3926,
Answer Given By Candidate:- Garib Rath / sifig zer, Option ID : -3925
Correct Answer :- Garib Rath / sifig 2o Option ID :- 3925

Question ID:- 983
Arrange the given words in the sequence in which they occur in the dictionary.
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b Abomlnable
c. Amalgamable
d. Accumulate
Options:-

«b, a, d, ¢, Option ID :- 3929,
«b, d, a, ¢, Option ID :- 3931,
«b, d, ¢, a, Option ID :- 3932,

«C, d, b, a, Option ID :- 3930,
Answer Given By Candidate:- b, d, ¢, a, Option ID : -3932
Correct Answer :- b, d, ¢, a Option ID :- 3932

Question ID:- 984
A wallclock is kept in front of a mirror. If the time showing in the clock is 9 hours.
What will be the time in image of the clock in the mirror?

U SR B ARG TP Siard T3t 3 € 3. afe ot A 9 wo1 =@ 31 a yferfasa 3 o= a1 331 dlen?
Options:-

=3 o' clock / 3, Option ID :- 3934,

=5 0' clock / 5, Option ID :- 3936,

=6 0' clock / 6, Option ID :- 3933,

9 o' clock / 9, Option ID :- 3935,
Answer Given By Candidate:- 3 o' clock / 3, Option ID : -3934
Correct Answer :- 3 o' clock / 3 Option ID :- 3934

Question ID:- 985
In a compass, west direction is shown as south. As per the compass, which direction
should a man go to, if he wishes to move towards the east?

IRt 3, uf2aa fon o1 i3t & Fu 3 RN SR 3 BFURT B 3MGRIR, TP 3cHl @I e o 3 sien @Ry, PR
az gd &1 3R agoll arsdr 37
Options:-

«East / yd , Option ID :- 3939,
sNorth / 3az, Option ID :- 3937,
«South / sféor, Option ID :- 3938,

«West / uf2rer , Option ID :- 3940,
Answer Given By Candidate:- North / 3@, Option ID : -3937
Correct Answer :- North / 3@z Option ID :- 3937

Question ID:- 986
A series is given with one term missing. Choose the correct alternative from the given
ones that will complete the series. Inch, Decameter, Foot,

o it 3 v ug cuar 3 13w s1e ferpeul 9 2 A3l ey goi St 9fFae @) g1 w¥en 34, Ay, B,

— 1
Options:-

s Centimeter / Aidsiicz , Option ID :- 3943,
sDecimeter / 3:fisficz, Option ID :- 3941,
sMeter / 3ficz , Option ID :- 3944,

s Millimeter / ficiisicz , Option ID :- 3942,
Answer Given By Candidate:- Meter / siics, Option ID : -3944
Correct Answer :- Meter / sficz Option ID :- 3944
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In the following question, select the word which cannot be formed using the letters of
the given word.
CARBONATE.

forgotfeiRad gost 3, 331 9I6¢ DI TRIel D2 BRI U S 916¢ & 3IERI DI IURISI BB o8] TollRI SII ADl &
CARBONATE.
Options:-

«BORN , Option ID :- 3946,
«BOSE , Option ID :- 3948,
«CARBON , Option ID :- 3945,

«EARN , Option ID :- 3947,
Answer Given By Candidate:- BOSE , Option ID : -3948
Correct Answer :- BOSE Option ID :- 3948

Question ID:- 988
Rupee : Indian: Yen : ?

SO MRCRE Jot & ?

Options:-

sBangladesh / sisengor , Option ID :- 3950,
«Japan / smumer , Option ID :- 3951,
«Pakistan / wifeszamer , Option ID :- 3952,

s Turkey / <ot , Option ID :- 3949,
Answer Given By Candidate:- Japan / smuret , Option ID : -3951
Correct Answer :- Japan / smura Option ID :- 3951

Question ID:- 989
A is the sister of B. C is brother of B, F is the mother of A. How is B related to F?

A B.Cohrasas C, Boraugd, F, Adbtaird B, F A A ddfea 3?
Options:-

= (@) Son / Ser, Option ID :- 3953,

«(b) Daughter / a& , Option ID :- 3954,

s (c) Either a or b / =1 3crm & , Option ID :- 3955,

«(d) Data inadequate / 3ersmoaig 3, Option ID :- 3956,
Answer Given By Candidate:- (c) Either a or b / =it 9ern &é& , Option ID : -3955
Correct Answer :- (c) Either a or b / @1 der=rir 3& Option ID :- 3955

Question ID:- 990
Sonal is standing to the north of Amar and to the west of Mahi. In which direction is
Mahi standing with respect to Amar?

Aol 3R D I A R Il D ufaa A =S T 3R D dAder A adl oA Ron A = 3?
Options:-

«North-East / 3@=-yd , Option ID :- 3959,
sNorth-West / saz-uf2rar , Option ID :- 3958,
«South-East / sféwr-gd , Option ID :- 3960,

sSouth-West / sfar-ufier , Option ID :- 3957,
Answer Given By Candidate:- North-East / 3az-yd , Option ID : -3959
Correct Answer :- North-East / 3a=-gd Option ID :- 3959

Question ID:- 991 _
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maternal grandmother”. How is Karan related to that man?

0T BT Uf¥arI S0 3T b Afth dadl 8, '"ds A3 oliofl b Uledl o1 ufer 3" w201 33 et A DA AHdfea 3?
Options:-

sBrother-in-law / aren , Option ID :- 3962,
«Father / frar , Option ID :- 3964,
«Grandfather / g1, Option ID :- 3961,

«Maternal grandfather / oo , Option ID :- 3963,
Answer Given By Candidate:- Brother-in-law / arcn , Option ID : -3962
Correct Answer :- Brother-in-law / zrem Option ID :- 3962

Question ID:- 992
If3&4%8=6and9% 4&3=12then12% 6 & 24 =7?

a3 &4% 8=631r9% 4&3=12a112% 6& 24 ="?
Options:-

=2 , Option ID :- 3968,
«3, Option ID :- 3967,
«4, Option ID :- 3965,

=6, Option ID :- 3966,
Answer Given By Candidate:- Not Attempted
Correct Answer :- 3 Option ID :- 3967

Question ID:- 993
Choose the odd numeral pair/group in each of the following questions.

forgatferiRac 3 2 i@ 3 fawa siov st / aa9e ot
Options:-

22, 4, 5, Option ID :- 3969,

=34, 4, 8, Option ID :- 3970,

«37, 4, 9, Option ID :- 3971,

«54, 4, 13, Option ID :- 3972,
Answer Given By Candidate:- 37, 4, 9, Option ID : -3971
Correct Answer :- 37, 4, 9 Option ID :- 3971

Question ID:- 994
Select the one which is different from the other three responses.

QP DI TRIol DI SII 30T cilol A 3IciET 3
Options:-

«Circle / ga, Option ID :- 3974,
sRectangle / 3@, Option ID :- 3975,
sSquare / ast , Option ID :- 3973,

«Triangle / foprst , Option ID :- 3976,
Answer Given By Candidate:- Circle / ga, Option ID : -3974
Correct Answer :- Circle / ga Option ID :- 3974

Question ID:- 995
Days and nights are equal throughout the globe when sun is above:-

I PRI SUR Blar & S| gforn s 3 ot 3iiR I SRR 3 3?
Options:- _
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«Equator / sprea ¥ar 31, Option ID :- 3980,

«Poles / ga 31, Option ID :- 3977,
s Tropic of Cancer / @@ Y1 3, Option ID :- 3978,

« Tropic of Capricorn / a®w: 3= 31, Option ID :- 3979,
Answer Given By Candidate:- Equator / sge 33ar 31, Option ID : -3980
Correct Answer :- Equator / sgies 3ar 21 Option ID :- 3980
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